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e el dojd =AY A = (2,3, 4°+4}, B
{a+1,4, 2a+3) o st AnB = {2, 5) 7} HEZ 5= A
a9 & otoiet
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> EHE a=1

ANB = {2, 5} o]ojokotR R [t A M a®+4 =5 .. a=+]

(i1)a=1¥ W, A=1{2, 3, 5}, B={2, 4, 5}
ANB={2, 5
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A=1{2, 3,5}, B=1{0, 1, 4}
ANB=0
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10.

AN U = {xlx= 8 0I5t 25 9]
Al l"i——‘%é% A= {xxE 8 0l5t9] &5}, B={1,2,3,6}, C = {1,5}
7F At

AARAG U o 7 2489 X, ¥ ol tisto] Xoy = (XU Y)N (X UY)
olgt & uf, (Ao B)oC E?

@ {1,3) @ {1,5) ® {1,7}
@ {1,2,5) @{1,2,6,7}

~&B

=1{1,2,3,4,5,6,7,8},A = {1,3,5,7} °|th.
XoY=(XUY)N(XUY)=(XUY)-(XNnY)olB&
AoB=1{1,2,3,56,7 —{1,3) = {2,5,6,7} °]th.
w2tA (Ao B)oC ={1,2,5,6,7) — {5} = {1,2,6,7} ©]t}.




